1]

Raccoglimenti
Periodo 2 - UdA 7

Svolgere 1 raccoglimenti ove possibile

2x3+2x6—3x4
— 625 —6+1522

1222492 — 62>
6x—8x2—6

2462 —293
242 —bHxo

23 4+4437

1524412224320

Qr+xi+1
—3r—3x2—9g3

— 203 4+6+4a°
— 39 —3x24-1°

—3:1:4+:136+:1:3
3—15x243x3

—6x+37°+372
202 —4+2r

22— 44y
22421421

1— 29243

— 312 +62°+ 327
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SOLUZIONI
Periodo 2 - UdA 7

Raccoglimenti
x3<2x3—3x—|—2)

3(223—52°+2)

3x(2x2—4x—3)
2(42%—3x+3)

3—3x2+1)

_Z(x
25511

X

25 +31+4
32 (333—|—5£E2—|—4)

224 27+1
3x(3x2+x+1)

2]

4]

6]

8]

|10]

B 2($3—2x2—3)
5132(333—356—3)

23 (x3—3x+1)
3(:1:3—5x2—|—1)

3x(x2+az—2)
2(x?+r—2)

2(22%+a°—2)
x(2x3+x—2)

o4 —1

32 (2:1:3+:U— 1)



